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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.
(3) Use of calculator is allowed.

(4) Statistical tables will be provided on request.

1 Explain

ey
)
3)
4)
()

1 (a)

(b)

(b)

Difference between large sample tests and small

sample test.

Type-I and Type-II errors

One tailed and two tailed tests

Null Hypothesis and Alternative Hypothesis

Level of significance and Degree of freedom.
OR

For the following data test H;:l; =W, and

Hy:6,=0, by using 5% level of significance
Particular Sample-I  Sample-II

Size 100 64

Mean 60 61

S.D. 4 2
Test Hy:F =P, for the following data using 5%
level of significance

np =600 x| =450
1y =900 x =450

For two independent random samples, the
following information is obtained.

Particular Size S.D. Mean
Sample-1 10 3.5 15
Sample-II 20 4.5 16.5

Test Hy:Uj =Wy VIS Hy:luy#U, at 5% level of
significance.

20

10

10

10

The following are two independent samples drawn 10

from two normal populations. Test Hy: 612 = G% by using

5% level of significance.

Sample-1 (22 |23 |27 |26 |16 |20 | —
Sample-2 | 38 |34 |32 |35 |42 |33 |27

OR
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2 (a)

A random sample of 25 pairs of osbervations from 10

bivariate normal population gave r = 0.42. Test H;:p=0

using 5% level of significance.

(b) Test Hy:p;=pyat 5% level of significance for the following 10

data
n, = 28 ry
n2 = 35 1'2

3 (a)

(b) Four coins are tossed 160 times and the number of
heads were as under :

0.50
0.30

No. of heads

0

1

2

3

4

Frequency

14

30

70

35

11

Explain X2 -test for independent of two attributes..

Is this result consistent with hypothesis that coins

are unbiased ?

OR
3  For the following data fit binomial distribution and

15

test the goodness of fitness. Use 5% level of Significance

Observations | 0

1

2

3

4

5

6

7

Frequency |7

6

19

35

30

23

7

4 (a) Explain the method of analysis of variance for two

way classification.
() Perform ANOVA on the data given below :

Varieties of wheats Observations
A 40 35 36 45
B 36 38 29 31
C 37 40 35 43
D 45 44 36 -
OR
4  Analyse the following L.S.D. data completely.
D(151) | C(268) | B(199) | A(47)
B(206) | A(208) | D(236) | C(300)
C(125) | B(142) | 4(240) | D(40)
A(84) | D(212) | C(190) | B(108)
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